Grov—v 7

Selo Eicing

Made in Japan

KAWASAKI NINJA 300/ 250 ('13-)
FRAME SLIDERS

part# K-25013FS

[L]

(Kawasaki parts) SLIDER PUCK
SLIDER BASE [L]

SOCKET HEAD

M10-50mm WASHER M8 | SOCKET HEAD
COLLAR 20-8 M8-55mm
SPLIT WASHER M8
[R]
SLIDER PUCK (Kawasaki parts)

SLIDER BASE [R]

SOCKET HEAD
M10-50mm

WASHER M8
SOCKET HEAD COLLAR 20-8
M8-55mm

SPLIT WASHER M8

satoracing.com



